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Peak flux: 0.894+/- 0.324 c/s/cm?

Grey line: exponential fit

Black line: power law + gauss fit Fluence : 7.77+/- 3.59 c/cm?
Dashed line: power law ’ ) '

Duration : 25.41+/- 12.97
} Best fit model: 1
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Exponential fit
Expon. time: 9.45+/- 4.50 s (chi*-red= 0.91)
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— Power law fit plus Gaussian (st.dev.= 4.89+/-81.73 s, fracgs= 0.00+/- 0.00) =
- Power law index: -0.687+/- 0.009 (chi*-red= 0.91) 3
ST bt bbb b * ettt b f b
= i fwwwﬁﬂwH*W%mﬂﬁ*ﬂw%Wﬁm*ﬂWﬂ*ﬂﬁﬂﬁtHfmﬁﬁwW*Hﬁ%ﬂ%ﬂ“%*ﬁﬂﬂﬂﬂﬁﬁﬁw WWWWﬂﬂwﬁ*ﬁ*ﬂH*ﬁﬁ*ﬂﬁwiﬁ
E | L L L L L L L L L | L L L L L L L L L | L L E
0 100 200 30

0



